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Find the Taylor polynomial T3(x) for the function f centered at the number a.

fixy = n(2x) 51 16. SCalc8 11.11.507.XP. (3353067)
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Find the Taylor polynomial Ts(x) for the function f centerad at the number a.

fix) = arcsin(3x), 2 =0 15. SCalc8 11.11.506.XP. (3352659)
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Find the Taylor polynomial T5(x) for the function f centered at the number a.
fix)=x+e* a=0 14. SCalc8 11.11.503.XP. {3352658)
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Use the Alternating Series Estimation Theorem to estimate the ranae of values of x for which the given approximation is accurate to within the stated error.

3 5

arctan{x}) = x — XX (Ierror\ =0 95) 12. SCalc8 11.11.029. (3352912] Check your answer graphically. (Round your answers to three decimal places.)
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